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General Answer Format:

Each Sudoku has two marked rows or columns. You need to submit all digits in the corresponding directions,
from left to right or from top to bottom.

All puzzles will use digits 1-9 in the submission, with some exceptions:

7 Matryoshka will have five entry rows with digits from 1-6 up to 1-9.

8 Double Sudoku will use the digits 1-4 twice in each row (ie a row could be 12341234).

9 Snowflake Sudoku will use the digits 1-6.

12 Capsules Sudoku will use the digits 1-8.

16 Star Battle Sudoku will use the digits 1-9 and X for stars (ie a row could be 123X45X6789).

Submission Page:  http://gp.worldpuzzle.org/content/sudoku-gp

This is version 2 of these instructions. The example for 16 - Transfer Sudoku has been corrected. Also, this note
has been added to mention that an amended “Claim Bonus” rule for the Grand Prix series has been posted in
the forum; please look there for full details.

Points:

1 Classic Sudoku 15

2 Classic Sudoku 15

3 Classic Sudoku 25

4 Classic Sudoku 25

5 Classic Sudoku 35

6 Classic Sudoku 40

7 Matryoshka Sudoku 90 (Partial credit: 54 for four of five rows, 27 for three of
five rows, 9 for two of five rows)

8 Double Sudoku 23

9 Snowflake Sudoku 12

10 Capsules Sudoku 18

11 Odd-Even Sudoku 18

12 Nonconsecutive Sudoku 36

13 Diagonal Sudoku 36

14 Parquet Sudoku 42

15 Star Battle Sudoku 105

16 Transfer Sudoku 65

TOTAL: 600
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1-6 Classic Sudoku
Place a digit from 1 to 9 in each empty cell so that each digit appears exactly once in every row, column, and
outlined 3x3 region.

Example Solution
6|3 2|1 6/3/4]5(7|8|9|2]|1
QP |s 7 Q> |[s8/1/9]|2]3[4]6]5]7
5|6 913 2/7/5]16/1/9]|3/4|8
3|4 711 5/2/3|4|6/7|1|8|9
(15 ¢ 2 ®»|2/8/6]|1/2|5|4|7|3
718 312 114|718/9/3]|2|6|5
219 118 716(2|19/5/1|18(3|4
3 6 3/9(8|7/4/2|5/1|6
415 9|2 415/1]13|8/6]|7]|9]|2
7 Matryoshka Sudoku

Apply Classic Sudoku rules. Also some areas are overlapped. In the example grids have size from 4x4 to 6x6. In
the competition puzzle the sizes will be from 6x6 to 9x9. There will be five entry rows, and partial credit given
for having some but not all of the rows correct (60% for four of five, 30% for three of five, 10% for two of five).
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8 Double Sudoku
Place a digit from 1-4 in each empty cell so that each digit appears exactly twice in each row, column, and
outlined region. Identical digits cannot share an edge.

Example Solution
»[(1]| |3 @»|1]4/3/2]|3|4]1]2
2 41112(3|4 312|1(4]11(2|3|4
4 4111213141 |2|3
3 11234 21314112341
2 4 311/2(4|3|2|14
1 OP|2/3/4|1|2]1]4]|3
41321 412134321
413|2]1 114]3|2]1]4]3]2

9 Snowflake Sudoku

Place a digit from 1-6 in each empty cell so that each digit appears exactly once in each “row” and outlined
hexagon. This example has the key “165234, 342516".
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10 Capsules Sudoku
Place a digit from 1-8 in each empty cell so that each digit appears exactly once in each row, column, and
outlined region. The digit in the rounded “capsule” is used for three columns.

Example Solution
7|3 4 2|73 8 6|54 1
114 7|8 6 11415 2 7183
8 5 8|37 2 5(6|1 4
(o g 4 1 8 O»|C 5 Jel1][4|C 7 D832
416 7|82 3 1146 5
6 3 1 4156 3 2|78
3|2 3|28 7 411]5 6
o> O>|C 4 Dslel1]C 8 D3]2]7
11 Odd-Even Sudoku
Apply Classic Sudoku rules. Additionally, the digits in gray cells are even.
Example Solution
3|2 8|6 312/5]4/9(1]|7/8|6
o> 3 @»(7/8/9]|2/3|6]1/4 5
6 5 7 9 116/4]5/8(7]3|9|2
3 4 1 6/9(8|3/2/4|5]|1]|7
1 7 9 411/3|7/5/9]|6/2|8
2 4 5(7(211/6/8]4|3|9
642 8/3|7]16/4/2]9|5]1
o> [5 6 ®©>»|(o/5/1|8/7/3|2]6]4
6 8 2/4/6]19/1/5|8|7|3
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12 Nonconsecutive Sudoku
Apply Classic Sudoku rules. Additionally, no consecutive digits (ie 3 and 4) can share an edge.

Example Solution
1 6 114/7]19/2/5|8(3|6
[ g 2 ®»|o/6/2]|4[8|3]|5|7]1
5/ 18] |1 9| |4 5/3|8|6[(1]7|9/2|4
1 4 5 8/1/6[2|4/9|3|5|7
5/ |1 419|3|5(7/1|6/8]|2
7 3 4 2(7/5]8|3(6|1(4]|9
71 19| |6] |4]| |5 71219|3/6(8|4/1]|5
[ g 2 ©>|3/5/1]|7]/9/4|2]6]8
6 3 6/8/4|1/5/2|7/9|3

13 Diagonal Sudoku
Apply Classic Sudoku rules. Additionally, the digits 1 to 9 appear exactly once on the marked diagonals.

Example Solution
8 4|96 3/5/8]2]7/4]9]6]1
®) |6 8 ®>|6/1]4|5/9|3]2]7]8
2 4 2/9/7|8/6|1]3]4]|5
7 8| |6 71211]14]3]9]|8/5]6
6 5 1 9/6/3|7/5|8]4]1]2
4 2 418/5|6/1(2]7/9]|3
1171219 4 1]712]9]8|5]|6]3|4
[ g 2 3 ©)|5/4/9]|3|2]6]|1]8]7
7 8/3|6|1]/4|7]|5/2]9
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14 Parquet Sudoku

Place a digit from 1 to 9 in each empty cell so that each digit appears exactly once in each of the twelve rows,
twelve columns and nine outlined 4x4 regions. Digits in the large cells belong to more than one row/column.

Example

| 5 2

8 —
o g 1

8 215 9
9

(o g 8

1 3 —

| 3| 16

15 Star Battle Sudoku
Place either a digit from 1 to 9 (in the example, 1 to 6) or a star in each empty cell so that each digit appears
exactly once in each row, column, and outlined region. There must be exactly two stars (in the example, one
star) in each row, column, and outlined region. Stars cannot touch each other, even diagonally. (Note: the
puzzle is 11x11.) For the answer entry, use an X for each star. In this example the answer is 13X2645,243651X.

Example
g
6 2 1
4
)
4
e g 6
3 5

&>

Solution
4 |3|e6|1 |8]5]9 [2]7
7 6 5
1] ® 9| ° 4l %
9l2] s5|3[4] 7]1l8] 6
7 l4]1]8 [6[2]5 [9]3
3 1 2
g| © 5| ° 71 4
5/9] 2[|4]7] 3|sl6] 1
3 [7]4]e [1[8]2 [5]9
8 9 4
6 | 2| ° 3|/
2|5] 9f7/3] 4|e6|1] 8

Solution

1/3%|2|6|4|5
6l5(2]4 |31
5%|1/3/2]|6]4
4111653 k]2
*l6[5]1]|4|2]3
243|651 %
3|2(4/%|1]|5|6
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16 Transfer Sudoku

The digits in the gray cells have been erased from a filled Classic Sudoku grid. Then four digits in every row
are transferred to the right one after another. Also, four digits in every column are transferred down one after
another. Each digit that was not erased was moved outside the grid to either a row or column clue, but not
both. Restore all digits to the grid to reform the starting Sudoku.

Example Solution
o> 5712 @¥[s[3]5]9]7]1]6]4]2
689 3 1|6|2|5|8]4|9(3|7
9435 7l9/4|3/2]6]8]1]5
9423 olalg8|2]1]5]3]7]6
6 7 8 1 6/5/3|[7/4l9]2]8]1
7 38 4 2(1]7]|6/3/8|5/9]4
51 3 2 5/7/6[1]9/3]4[2]8
3576 3l8l1|a]5/2]|7]6]9
o> 2971 @l|4/2]/9]8]6]/7[1]5]3
832524647
753616216
216 445579
471892453
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